TOP
SECTION

STEEL SECTION

25 GAUGE HOT DIPPED GALVANIZED STEEL EXTERIOR————————

SKIN ROLL-FORMED WITH WOOD GRAIN EMBOSSED
TEXTURE FINISHED WITH A BAKED ON POLYESTER
TOP COAT OVER AN EPOXY PRIMER

25 GAUGE HOT DIPPED GALVANIZED STEEL INTERIOR ———
SKIN ROLL-FORMED WITH STUCCO EMBOSSED
TEXTURE FINISHED WITH A BAKED ON POLYESTER
TOP COAT OVER AN EPOXY PRIMER

5/8"

DECORATIVE EXTERIOR TRIM BOARDS

TRIM BOARDS ADDED TO EXTERIOR OF BASE
DOOR TO CREATE CARRIAGE HOUSE LOOK.
LOCATION AND QUANTITY OF BOARDS WILL
VARY.

PERIMETER SEAL
NAILED 8" O.C. WITH

4d STEEL NAILS

/g/

=

INSULATION
POLYURETHANE FOAM

=

—

=

CENTER HINGE j

SEE DETAIL ON SHT 3

CENTER HINGE
DETAIL

SCREW,
1/4" X 718"

RETAINING NUT

7/16" PUSH ON
RETAINING NUT (1)
REQUIRED PER ROLLER
SEE DETAIL ON SHT 3

SECTION B-B

SPRING COUNTERBALANCE
SPRING SIZE AND QUANTITY WILL
VARY BASED ON DOOR SIZE.

-BAR
SEE DETAIL ON SHT 3

END STILE
EDGE HINGE

UBAR

SECTION SCHEDULE
DOOR #1 #2 #3 #4 #5
HEIGHT BOTTOM |INTERMEDIATE | INTERMEDIATE | INTERMEDIATE TOP
@ SECTION SECTION SECTION SECTION SECTION
(akd 6 -0 0 P - 24"
18’ 18" 18 24"
18’ 24" 18 24"
24 18" 24 24"
4’ 4" 24 4"
4' 8" 18 4"
|~ ~— INTERMEDIATE 7 & 15 -
SECTION 4 g 18 Z3
I 24 247 24 24"
(]
“0%0
i xS
’ 12" OR 15" RADIUS
INTERMEDIATE
JAMB ANGLE
SECTION
ONE (1) REQD PER VERTICAL
TRACK. ATTACH WITH (3) HEX
HEAD LAG SCREWS
SEE DETAIL ON SHT 3
[~ VERTICAL TRACK
o9 =
T
BOTTOM
L~ secton 18" MAXIMUM O.C. TRACK
REMAINING BRACKETS BRACKETS
g, DOOR HEIGHT
o0 A Bg é'% = SEE SECTION
LI Spleezieel Uy %, 1 SCHEDULE FOR
SRX\CENS 22 79%,
SOV Yz 1 SECTION HEIGHT
SECTION A-A S&¢ No 0036469 %72 |
el "
Ep
:,'90. STATE OF TYPICAL TRACK INSTALLATION
%02
%A 01 0) NORMAL HEADROOM TRACK SHOWN, LOW
258 EADROOM, LIFT CLEARANCE AND VERTICAL LIFT

Richard

Digitally signed by Richard Baumann
DN: cn=Richard Baumann,

o=Wendler Engineering, ou,

Baumann

Richard A. Baumann
F.P.E #36469
T.P.E #85227

698 Timber Creek Road
Dixon lllinois 61021

email=dbaumann@wendlergs.com,

c=Us
Date: 2012.08.23 10:09:37 -05'00"

TRACK AVAILABLE

TOP FIXSTURE —— |
SEE DETAIL ON SHT 3

WINDOWS, OPTIONAL —— |
SEE DETAILS ON SHT 2

STEEL REINFORCEMENT — |

ONE (1) U-BAR PER

SECTION, FASTENED USING

(2) SHEET METAL SCREWS
AT EACH STILE

LOCKS REQUIRED

ON DOORS NOT

ELECTRICALLY OPERATED

SEE DETAILS ON SHT 3

ROLLER CARRIER
SEE DETAIL ON SHN

SCREW;
1/4" X 718"

L JAMBS

SEE SHT 2 FOR JAMB
ATTACHMENT

HEX HEAD LAG SCREW

(2) PER BRACKET, SEE DETAIL
ON SHT 3

TRACK BRACKET SHOWN,
FULL ANGLE OPTIONAL

SEE DETAIL ON SHT 3

TRACK BOLT / WHIZ LOCK NUT
SEE DETAIL ON SHT 3

TRACK ROLLER
SEE DETAIL ON SHT 3

TRACK, 2" SHOWN, 3" OPTIONAL
SEE DETAIL ON SHT 3

EDGE HINGE
DETAIL

DOORS TESTED PER
ANSI/DASMA 108
FOR STATIC AIR PRESSURE

. h PSF RATING WITH OR
= DOOR WITHOUT WINDOWS
SCREW, 1/4" X 7/8" WIDTH
(2) PER ROLLER CARRIER DOOR WIDTH - 10' - 0" WIDE SHOWN DESIGN LOAD
(1) PER CABLE SEE SHEET 2 FOR OTHER DOOR WIDTHS 0o | +3t0 | 30
ATTACHMENT BRACKET ROLLER INTERIOR ELEVATION
géﬁtiéTTTACHMENT CARRIER ScALE. NONE T WINDLOAD
DRAWN BY: G. WEDEKIND A ROCKCREEKE
ROLLEE _&A”?RIER P E——— RAYNOR 100" MAX. DOOR WIDTH
A PRODUCTION RELEASE 6338.02 08/02/12 DATE: 08/02/12 1101 EAST RIVER ROAD SHEET REV
} No. P-
REV. DESCRIPTION ECO DATE ECO: 6338.02 pom L eon P 2306 1oF 3 A



Dick_Baumann
Dick FL Seal


8'- 0" WIDE
1 CENTER HINGE ROW

9'- 0" WIDE
1 CENTER HINGE ROW

-]

10'- 0" WIDE
1 CENTER HINGE ROW

CENTER HINGE AND U-BAR ATTACHMENT LAYOUT

INTERMEDIATE SECTION SHOWN

INTERIOR VIEW

1

GLASS
PANEL

WINDOW WITH
OPTIONAL
DECORATIVE INSERT

WINDOW

A

SOLID
PANEL

GLASS OPTIONS:
1/8" DSB
1/2" INSULATED GLASS

NO LOAD FROM WIND APPLIED
TO HORIZONTAL MEMBER

FASTENERS TO

CONTINUE PAST \7
HEADER o

[ B

¥ #

OPENING
HEIGHT

MAXIMUM ON CENTER SPACING ——

|

TREATED 2X6 #2 DOUGLAS FIR / °

OR BETTER WOOD BUCK WHEN
MOUNTING TO MASONRY
JAMBS. UN-TREATED 2X4 #2
DOUGLAS FIR OR BETTER MAY
BE USED ON WOOD JAMBS.
SEE CHART FOR BUCK
ATTACHMENT TO STRUCTURE

W

FIRST FASTENER 6" ABOVE THE FLOOR

JAMB ATTACHMENT NOTES

aRwWNE

f—

OPENING
WIDTH

1/4" DIAMETER ANCHORS REQUIRE 1" MIN. O.D. STEEL WASHER AND 2-1/2" MIN. EDGE DISTANCE.
. 5/16" AND 3/8" DIAMETER FASTENERS REQUIRE 7/8" MIN O.D. STEEL WASHER AND 3" MIN. EDGE DISTANCE.
. MAXIMUM POSITIVE LOAD PER JAMB = (10' X 31.0 PSF) / 2 = 155 LBS PER FOOT

. MAXIMUM NEGATIVE LOAD PER JAMB = (10' X 35.0 PSF)/2 =175 LBS PER FOOT.

. DESIGN OF THE SUPPORTING STRUCTURE SHALL BE THE SOLE RESPONSIBLITY OF

THE BUILDING DESIGNER AND SHALL BE DESIGNED FOR THE JAMB LOADS LISTED IN

NOTES 3 AND 4.

6. ALTERNATE JAMB ATTACHMENTS MAY BE USED IF APPROVED BY A REGISTERED PROFESSIONAL ENGINEER.

RULLLLLITTD
Mg A FASTENER MINIMIMUM | MINIMUM EDGE | ALLOWABLE MAXIMUM ON
QA
S EN e AR oF JAMB MATERIAL TYPE EMBEDMENT | DISTANCE | TENSION LOAD | CENTER SPACING
S OQ\ N % BOARDS WILL VARY GROUT FILLED BLOCK 5/16" DIA X 3 1/4™ LONG ITW TAPCON 13/ 4 487 24
No
ST No 0036469 ° " B . B .
S i i PANEL OPTIONS 3192 PSICONCRETE 1/4" DIA X 3 1/4" LONG ITW TAPCON 13/4 1 510 24
P % : EXTERIOR VIEW 2899 PSICONCRETE 5/16" DIA X 3 3/4" LONG ITW TAPCON 21/4" 19/16" 713 24"
%P5 STATE OF WS
205 & % e‘»":‘ 2000 PSI CONCRETE 3/8" DIA X 3 1/2" POWER STUD ANCHOR 15/8" 17/8" 360 24"
"’;,(“@“%L.,,{{ RADTNS 4000 PSI CONCRETE 3/8" DIA X 3 1/2" POWER STUD ANCHOR 15/8" 17/8" 570 24"
"’l’s /O NAL g\:\\\\\
Upgy gy WOOD DOUGLAS FIR (G=.46) 5/16" DIA. X 3 1/2" 1172 1" 352 24"
R- h d Digitaly signed by fichard WOOD SYP (G=.55) 5/16" DIA. X 3 1/2" 11/2" 1" 460 24"
I c a r DN: cn=Richard Baumann,
©o=Wendler Engineering, ou,
email=dbaumann@wendlergs.c
BaUI | lann om, c=US NONE
Date: 2012.08.23 10:10:13 -05'00' SCALE "€ SPEC, WINDLOAD
Richard A. Baumann DRAWN BY: G. WEDEKIND A ROCKCREEKE
$gE zggggg CHECKEDBY: G. WEDEKIND RAYNOR 10-0" MAX. DOOR WIDTH
698 Tlmber Creek Road DATE: 08/02/12 1101 EAST RIVER ROAD P 2306 SHEET REV
Dixon Illinois 61021 ————" oo ezt NO. - cora | A



Dick_Baumann
Dick FL Seal


~ 3.187 —=]
450
I 1.500 A "—Ai 1.428
1.328 T——‘
2000} | o A U\
JAMB AND HEADER SEAL
FOAMED PVC WITH FLEXIBLE PVC FLAP 2812 — I ] 0
Li 2-5/8" < ‘ ‘ (=}
2,609 i 2554 STEEL U-BAR DETAIL . 0 U
18 GA. (.049" MIN) GALVANIZED 3" TRACK BRACKET o
HIGH TENSILE GALVANIZED STEEL 1116 GALV STEEL
80 KSI MINIMUM YIELD @)
[0 0] °
j-———4.187
f 1.sooﬁ CENTER HINGE EDGE HINGE 0
061  2.375 o .086 GALV. STEEL .086 GALV.STEEL
l 750 x.25 THICK:, |- N
‘ 0 0 [ TRACK 9 475
— / 3.000 — . 500
SLIDE LOCK SHEET STRIKE PLATE J
CASE .086 GALV. STEEL SCREW 15/8"x 4 1/2" x .086 ] L
(4) REQ! LOCK BAR | R/
(o] 3/4" X 114" 4" TRACK BRACKET }
— H 116 GALV. STEEL @ 43
r r TRACK BOLT/WHIZ NUT - 44
b 5/16-18 X 3/4"
o) (2) PER STRIKE PLATE TRACK ROLLER
I 0 | o
2.28
4.440 O
J ’—*— 1.00 —>o
END STILE — 5/8" MINIMUM o 2 <——‘— 1.93 ’
—>o
L r 2.09
OPTIONAL INTERIOR 2.265 —
LOCK DETAIL R 224 \/ &
2560 2625 ROLLER CARRIER
.086 GALV. STEEL TRACK
TOP FIXTURE ATTACHED TO TOP FIXTURE WITH .055 GALV. STEEL JAMB ANGLE
218" :086 GALV. STEEL (2) TRACK BOLTS AND WHIZ NUTS .078 GALV. STEEL
ULLLLITY [ @ 875
\} . B (77 @ 420
S eecoua, _ 035
\Z\V" 3 [ h r 3/4"
O .
@¢ No 0036469 : )
* s o 660 @ s5/16
$
: * s f
-‘“ % 5 L @ 590
2B STATE OF s
%O}(\'.o A 5 1.206 RETAINING NUT TRACK BOLT
% &L ORI
s SS‘ sor LS ROLLER CARRIER 10 1340
I"’"l TONAL R .086 GALV. STEEL
D05y gpppanat .
. h d Digitally signed by Richard @ 516"
Baumann
Richard &
o=Wendler Engineering, ou,
email=dbaumann@wendlergs.co
Ba umann reu SHEET METAL SCREW HEX HEAD LAG SCREW
Date: 2012.08.23 10:10:40 -05'00" .
: SCALE: NONE
— "™ SPEC, WINDLOAD
Richard A. Baumann DRAWNBY: G. WEDEKIND A ROCKCREEKE
F.P.E #36469 END STILE CHECKEDBY: G. WEDEKIND RAYNOR 10-0" MAX. DOOR WIDTH
T.P.E #85227 18 GA (.043 MIN) GALV. STEEL ooz
698 Timber Creek Road oATE 1101 EAST RIVER ROAD sueer | Rev
Dixon linois 6101 — DIXON, L 61021 no. P-2306 sors | A



Dick_Baumann
Dick FL Seal


		2012-08-23T10:09:37-0500
	Richard Baumann


		2012-08-23T10:10:13-0500
	Richard Baumann


		2012-08-23T10:10:40-0500
	Richard Baumann




